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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

.

Some vegetarians are not just indifferent to meat; they have a/an —--—--—---- toward it.

1) immorality 2) tendency 3) antipathy 4) commitment

A recent study shows that the prevalence and sometimes misuse of cell phones and
computers has led to a/an ---------—-—- in some people about the benefits of technology.

1) ambivalence 2) distinction 3) encouragement  4) compromise

My niece has a —-—-eeeuux imagination. She can turn a tree and a stick into a castle and a
wand and spend hours in her fairy kingdom.

1) vacuous 2) vivid 3) cyclical 4) careless

The singer's mellifluous voice kept the audience ------------ for two hours.

1) disputed 2) disregarded 3) frustrated 4) enchanted

His family, relatives, and friends still cling to the hope that Jeff will someday -—-----ev-m-
himself from the destructive hole he now finds himself in.

1) evade 2) prevent 3) deprive 4) extricate

Logan has been working long hours, but that is no excuse for him to be - to
customers.

1) ingenious 2) intimate 3) discourteous 4) redundant
Although he was found ------eeeeev , he continued to assert that he was innocent and had
been falsely indicted.

1) critical 2) guilty 3) problematic 4) gloomy

The old sailor's skin had become wrinkled and -- --- from years of being out in the
sun and the wind.

1) desiccated 2) emerged 3) intensified 4) exposed

The promoters conducted a survey to study the ------------ of the project before investing

their money in it.
1) impression 2) visibility 3) feasibility 4) preparation
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10- That is 100 —=—veeeeen an explanation for this strange phenomenon—I am sure there's
something more complex at work.
1) simplistic 2) lengthy 3) profound 4) initial

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Some researchers investigated the effect of listening to music by Mozart (11) ====aeaaee-
spatial reasoning. and the results were published in Narure. They gave research
participants one of three standard tests of abstract spatial reasoning (12) -—--eeee- ---
cach of three listening conditions: the Sonata for Two Pianos in D major, K. 448 by
Mozart. verbal relaxation instructions, and (13) ==——memmmeemm . They found a temporary
enhancement of spatial-reasoning, (14) --------—--- spatial-reasoning subtasks of the
Stanford-Binet 1Q test. Rauscher et al. show that (15) -- -- the music condition is
only temporary.

11- 1)in 2) for 3)of 4) on
12- 1) having experienced 2) after they had experienced
3) to be experiencing 4) to experience
13- 1)silence 2) was silent 3) there was silent  4) of silence
14- 1) then measured 2) that was measured
3) as measured by 4) to be measuring

15- 1) the effect of the enhancement of
2) the enhancing effect of
3) enhances the effect of
4) is enhanced by

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Tourism in Antarctica has grown dramatically. In 1985, just a few thousand people
visited the area but in the season 2007/2008 more than 40,000 did the same. A number
of parties are concerned about the effects of this rapid growth with respect to safety,
the environment, the scale of tourism and the lack of financial resources for
monitoring and enforcement purposes. They also have doubts about how this growth
can be reconciled with the basic principles of the Antarctic Treaty System (ATS).
Antarctica is not a sovereign state and so legislation is difficult. With strict guidelines
and codes of conduct, the International Association of Antarctic Tour Operators,
IAATO. has been able to dispel many of the concerns. However., this self-regulation is
no absolute guarantee for a healthy tourism industry on Antarctica.
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One way to tackle this issue is that of marketable visitor rights, as is already used in
the climate policy by means of trading in CO, emission rights. First of all a maximum
annual number of tourist days in Antarctica will be set. To ensure a smooth transition,
this maximum will be set higher than the actual number of tourist days used. As soon
as the demand for holiday days in Antarctica is higher than the maximum, the rights to
the days will have a certain value.

By awarding the rights to the ATS, the income can be used, for example, for
monitoring and enforcement purposes. issues for which there is little money at present.
The visitor rights will be auctioned. Then the buyers are free to trade the rights further.
This will ensure that the available “space™ in tourist days will be used for the most
profitable forms of tourism. This system of marketable visitor rights could allow three
objectives to be realized: the scale of tourism and with this its effects will be limited.
an urgently desired new source of funding will become available for monitoring and
enforcement. and the tourism trade in the Antarctic area will remain financially
healthy.

What is the primary purpose of the passage?

1) Presenting a concept 2) Proving a hypothesis

3) Suggesting a possible solution 4) Tracing the origin of an issue

Which of the following can be inferred from the passage?

1) CO, emissions in Antarctica are reaching an alarming level.

2) Tourism in Antarctica is threatening the South Pole environment.

3) Giving legislative rights to IAATO fails to confine the scale of tourism in Antarctica.

4) Selling visitor rights to the highest bidder can decrease the demand for holidays
in the region.

The word “sovereign” in paragraph 1 could best be replaced by —--------mmeenu- :
1) democratic 2) socialist 3) subordinate 4) independent
According to the passage, all of the following are true EXCEPT that ---ceeceeeeeeec,

1) the ATS has limited the number of annual visitors to Antarctica

2) the growth of tourism industry in Antarctica does not fully comply with
the ATS standards

3)nowadays. Antarctica suffers from a lack of liquid assets to monitor the enforcement
of the visitor rights

4)marketing the tourist rights to those offering the highest proposal can cap tourism
and its effects

Why does the author mention “CO2 emission rights” in paragraph 2?

1) To evaluate the effects of marketable visitor rights

2) To trace the development of different trade rights in the South Pole

3) To provide an example of a similar measure taken to overcome a different issue

4) To stress different solutions parties came up with regarding the problems in Antarctica

PASSAGE 2:

Environmentalists often fear that tourists will trample all over sensitive natural
resource areas, but tourism may bring the needed and the only economic incentives to
help drive conservation. Ecotourism and natural resource conservation already have a



b axio 802A (1IYD) uS = 53,8l Cu p e

21-

22-

mutually beneficial relationship that is ideal for creating a sustainable partnership.
Ecotourism destinations benefit in the form of enhanced tourism competitiveness from
the protection of quality natural resources, meanwhile, the conservation of these
natural resources is increasingly valued since these pristine natural resources are the
foundation of the ecotourism industry and the driver of all economic benefits
associated with ecotourism.

Tourism is a $7.6 trillion global industry, provides 277 million jobs and is a primary
income source for 20 of the world’s 48 least-developed countries, according to the
World Travel and Tourism Council. It also subsidizes environmental protection and
helps protect, conserve and value cultural resources that might otherwise be
undervalued by the host community. Despite past tension between the tourism industry
and environmentalists, the two should team up as allies to fight off increasing
conversion of land away from its natural state. Ecotourists not only provide a boost to
the economy in such places. they can also motivate landowners into keeping the
environment in its natural state instead of converting it into something unsustainable.
They could also influence the public perception of conservation, which does not often
favor environmental protection. The public has become increasingly less prone to
respond to environmental messages. Economic messages are needed in order to attract
the public’s interest.

Too often, unique natural resource areas are converted into urban, suburban and
agricultural developments without considering their ecotourism potential. In addition
to the lost ecotourism revenue, there are a host of negative environmental
consequences such as biodiversity loss, water and food shortages and the land being
unable to mitigate the effects of climate change. These areas are not valued for their
unique attributes or the valuable natural resources they provide.

The word “pristine” in the first paragraph is closest in meaning to ---—--=---,

1) precious 2) significant 3) fierce 4) intact

According to paragraph 2, environmentalists

1) rarely accuse tourism industry of having dire env:ronmental consequences

2) protect quality natural areas from some resource shortages happening due to climate
change

3) and ecotourists ideally try to maintain a stable relation between cultural and
environmental resources

4) should foster a joint collaboration with tourism industry to protect the natural
environment

Which of the following best describes the function of the underlined sentence in

paragraph 2?

1) It elaborates on the idea discussed earlier in the paragraph.

2) It offers a solution to a problem raised in the previous sentence.

3) It introduces a cause for the argument presented at the beginning of the passage.

4) It explains why the adverse effects of biodiversity loss should be taken into
consideration.
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Which sentence, according to the passage, is NOT true?

1) The unique properties of natural resource areas are not often valued.

2) In spite of what is commonly believed about tourism, it can be a great financial
source to support the environment conservation.

3) The public neglects conservation of natural resource areas unless they are well-
informed about it.

4) Ecotourism and natural resource conservation are proposed as allies to protect
natural landscapes.

The word “they” in the last sentence refers to —=—--mceeemeeee,

1) these areas

2) unique attributes

3) natural resources

4) the effects of climate change

PASSAGE 3:

The world’s national parks and nature reserves receive around eight billion visits every
year, according to the first study into the global scale of nature-based tourism in
protected areas. The paper, by researchers in Cambridge, Princeton, New Jersey, and
Washington is the first global-scale attempt to answer the question of how many visits
protected areas receive. and what they might be worth in terms of tourist dollars.

The authors of the study say that this number of visits could generate as much as
US$600 billion of tourism expenditure annually — a huge economic benefit which
vastly exceeds the less than USS$10 billion spent safeguarding these sites each year.

Scientists and conservation experts describe current global expenditure on protected
areas as “grossly insufficient,” and have called for greatly increased investment in the
maintenance and expansion of protected areas — a move which this study shows would
yield substantial economic return — as well as saving incalculably precious natural
landscapes and species from destruction.

“It’s fantastic that people visit protected areas so often, and are getting so much
from experiencing wild nature — it’s clearly important to people and we should
celebrate that,” said lead author Professor Andrew Balmford, from Cambridge
University’s Department of Zoology."These pieces of the world provide us with untold
benefits: from stabilizing the global climate and regulating water flows to protecting
untold numbers of species. Now we’ve shown that through tourism nature reserves
contribute in a big way to the global economy: yvet many are being degraded through
encroachment and illegal harvesting, and some are being lost altogether. It’s time that
governments invested properly in protected areas.” Dr. Andrea Manica, a
corresponding author and also at Cambridge. says these are ballpark estimates based
on limited data. so the researchers have been careful not to overstate the case. “These
are conservative calculations. Visit rates are likely to be higher than eight billion a
year, and there’s no doubt we are talking about hundreds of billions of tourism dollars
a year,” he said.

“The attempt to calculate these figures was in part borne of frustration”, says
Balmford. *We study what people get out of nature, so-called “ecosystem services’.
While some ecosystem services are difficult to measure — such as cultural or religious
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benefits — we think that nature-based recreation would be quite tractable: there’s a
market and tangible visits you can count”,

What does the passage mainly discuss?

1) The number of visits world’s protected natural areas receive annually.

2) Concerns arising from ecosystem services regarding nature-based tourism.

3) The first study carried out about the global scale of tourism in protected areas.

4) The economic value the nature-based tourism delivers via visits to protected areas.

According to the passage, the amount of revenue earned from visiting protected areas

1) justifies the importance of conserving them

2) has reached a total sum of US$600 billion recently

3) results in inconsiderable economic return

4) is not as high as their maintenance costs

According to paragraph 4, it can be inferred that - .

1) in recent times, plenty of illegal activities were banned in protected areas

2) huge investment has already been made in maintenance of nature reserves

3) nature-based recreation is hard to be influenced by the number of tourists in the
market

4) by gathering more reliable data, more accurate understanding of tourism revenue
can be achieved

In the last paragraph, the passage uses the phrase “ecosystem services” in order to

1) mention the term for what is already explained in the paragraph

2) indicate a way of gaining benefits culturally and religiously

3) persuade readers of the need to recreate protected natural areas

4) highlight the difficulties of measuring the issue mentioned in the preceding paragraph
Which of the following best describes the author’s attitude toward financing natural
areas’ protection?

1) Apathetic 2) Favorable 3) Critical 4) Flippant
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